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mTerLockme | ERooP FUNCTION TO BE ACHIEVED Q PAG

1 To prevent the opening of switch when breaker is closed. 6
ISOLATE . . .
2 To prevent the operation of switch when breaker is closed. L 4 6
SWITCH - . i oo
AND Permits reclosing of breaker for servicing when switch is loc open.
BREAKER 3 To prevent the operation of switch when breaker is close 6

Circuit cannot be cleared until proper supervisory key is@ftain

| GROUNDING

SWITCH WITH 4 To prevent the closing of grounding switch when main gwitgfjis closed, and vice 6
MAIN SWITCH versa.
5 To prevent the operation of disconnects when bro@ker i§ closed. 1
Prevents opening fuse compartment door 1S€0nnects are closed.
6 To prevent the operation of disconnect wh ny 11 of a group of breakers 7
are closed.
ISOLATING Operates through transfer interlock, ngfSe required for breaker closing.
SWITCH 7 To prevent the operation of disc tw ny or all of a group of breakers 8
AND are closed.
BREAKER Breakers closed in prearrang efge.
8 To prevent the operation ofydi € hen breaker is closed. 8
Permits servicing of break@gwh isconnects are locked open.
9 To prevent the operation &ects when breaker is closed, and prevents 9

access to breaker compafent with disconnects closed.

10 To prevent the gperdi @ Breaker disconnects and by-pass disconnect under 9
SV:’?’?(I;I?E;IX(;D load. Permj e g.glOsing of by-pass disconnect before circuit is opened,
BREAKER OR or circui to be opened with by-pass disconnect remaining open.
REGULATOR WITH 11 To preveng the@eration of voltage regulator disconnects and by-pass discon- 10
BY-PASS SWITCH nect un adfBermits by-pass disconnect to operate only when regulator

is in n a ition. Permits isolating regulator for servicing.
12 To preyén aralleling of two lines. 10
sing d, fed from either source.

13 @ To Mucvenlthe paralleling of two lines. 10
& eload, fed fromeither source.
eaker on load side.
1 revent the paralleling of two lines. 11

—two loads, fed from either source. (one tie breaker)

o prevent the paralleling of two lines. 11
—two loads, fed from either source. (one tie breaker)

—Prevents the operation of switch when breaker is closed (on either source)
To prevent the paralleling of two lines. 12
—two loads fed from either source (one tie breaker).

—Prevents the operation (open or closed) of disconnect when breaker is closed
(oneither source).

—Prevents the access to fuses when disconnects and breakers are closed.
To prevent the paralleling of three lines. 13
—three loads, fed from any source (two tie-breakers)
@ 18 To prevent the paralleling of four lines. 13
—fourloads fed from any source (three tie-breakers)
19 To prevent the paralleling of three lines. 14
—threeloads fed from any source (three tie-breakers)
20 To prevent the paralleling of four lines. 14
—fourloads fed from any source (four tie-breakers)
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REASON FOR
INTERLOCKING

METHOD
NO.

FUNCTION TO BE ACHIEVED

TO
PREVENT
PARALLELING
OF LINES
(Cont’d)

21

22

23

24

25

To prevent the paralleling of three power sources through a common tie bus
not normally in service.

—Permits the feeding of any load bus from a second power source thrg@@h the

tie bus.
—Permits one power source to supply all three load buses throug ti .
To prevent the paralleling of three power sources through a commgmgie not
normally in service.
—Permits the feeding of any load bus from a second power gour ugh the
tie bus only when authorized by a supervisor.
—Permits one power source to supply all three load buse ough the tie bus

only when authorized by a supervisor.
To prevent the paralleling of two incoming primary rces@hrough primary

tie bus disconnect.
—Prevents the operation (open or closed) of th@ects under load.
—Permits one power source to supply bo s gh tie bus.

To prevent the paralleling of two incoming sources through the pri-
mary tie bus disconnect or second ic bu§ bréaker.

onnects under load.
ads through either the primary or

—Prevents the operation (open or glo

—Permits one power source to sup,

secondary tie bus.
To prevent the paralleling of two in ing primary sources.
—Prevents the operation (o sed) of disconnects under load.
—Permits the isolatinggafybra or servicing.

to stipply both loads through tie bus.

—Permits one poweg

INTERRUPTER
SWITCH
SCHEMES

26

27

28

31

16

16

17

17

To prevent the openg i fuse compartment door when the interrupter
switch is closed.
—Prevents closigmghe rrupter switch'until the fuse compartment door

is locked clo --

To prevent the gper4 ‘Q (open or closed) of the interrupter switch when the

breaker is glose

— Pefjts e brahker to be serviced and operated while the interrupter
sSWi oCKed open.

t the Operation (open or closed) of the interrupter switch when the
losed.

s opening of the fuse compartment door when the interrupter
is closed.

Topre

vents the closing of the interrupter switch until the fuse compartment
oor islocked closed.
Permits the breaker to be serviced and operated while the interrupter
switch is locked open.

To prevent dropping load—(when shifting from one source to the other.)
Prevents the opening of both interrupter switches at the same time—
(Permits both interrupter switches to be closed at the same time.)

To prevent the paralleling of two lines—requires dropping load when shifting
from one source to the other.

—Prevents closing both interrupter switches at the same time—(Permits
both interrupter switches to be opened at the same time.)

To prevent the paralleling of two lines—requires dropping load when shifting
from one source to the other.

—Prevents the closing of both interrupter switches at the same time—
permits bothinterrupter switches to be open at the same time.

us.

19

19

19

20
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J_Fé\:‘?:cfg: ¢ |METHoD FUNCTION TO BE ACHIEVED B PASE
31 —Prevents the operation (open or closed) of either interrupter switch when
cont’d breaker is closed.

—Permits the breaker to be serviced and operated while bot errupter

switches are locked open.
32 To prevent the operation (closed, open or closed) of a threu\@errupter 21
switch when the breaker is closed.
INTERRUPTER —Permits the breaker to be serviced and operated while igterrupter
SWITCH switch is locked open.
SCHEMES 33 To prevent the operation (closed, open or closed) of a e position interrupter 21
(Cont’d) switch when the breaker is closed.

—Prevents the opening of the fuse compart hen the interrupter
switch is closed.

—Prevents the closing of the interrupteswit@h until fuse compartment
doorislockedclosed.

—Permits the breaker to be seryiged 2 grated while the interrupter
switchis locked open.

L 4 \< ,
L 4
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METHOD 1.

Function: To prevent the opecning of Switch A when
Breaker B is closed.

Sso \A
—— —ng- B
A01 AO01
Of+---{o)
L-C L-O

Switch A and Breaker B are in closed position. Key is
held in Breaker B interlock.

1—Open breaker.

2—Turn key in 1.-O interlock on Breaker B to lock the
breakeropen. The key is now free.

3—Insert key in L-C interlock on switch A and turn to
unlock.

4—Opens switch A. Key is now held in switch A.

Reverse the sequence to restore service.

METHOD 2.

Function: To prevent operation of Switch A wh
Breaker B is closed. Permits reclosing the Breaker for ger-
vicing when the Switch is locked open.

AQ1
f— > — —— 3 — —
E
——— — — — - —

LOC

Switch A and Breaker B are
Key is held in the Breake
I—Open breaker.
2—Turn the key:
lock the breake
3—Insert the key in L=
turn to unlock.
4—Open switch A
key in [.-O-C interlock on switch A to lock
e key is now free.
key to the breaker interlock and unlock
tion during servicing period.

" interlock on switch A and

the sequence to restore service.

KEY INTERLOCK - APPLICATION SCHEMES
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METHOD 3.

Function: To prevent the operation of switch A gue
Breaker B is closed. Circuit cannot be cleared until prope
supervisory key is obtained.

-

AOT
——-—— SUPERVISORY
E KEY
L
LOC

are shown closed. Key AO1 is
Bck. Key AO2 is retained by the

AO01 to lock open. Key AO02 is now held
AO1 is free.
sert key A0l in L-O-C interlock on switch A and
turn to unlock.
pen switch A.
Turn key AO1 in L-O-C interlock on switch A to
lock open. Key AO1 is now free.
7—Return key AO1 to breaker interlock and unlock
for operation during servicing period.

Reverse the sequence to restore service.

METHOD 4.

Function: To prevent the closing of Grounding Switch
B when main Switch A is closed, and vice versa.

AO01 AO1 AB
or-—©F )

L-O L-O
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METHOD 4 (Cont’d) 4—Open the fuse compartment door. O

Main Switch A shown closed and Grounding Switch B Reverse the sequence to restore 530

shown open. The key is held in Main Switch interlock.
1—Open main switch A.
2—Turn the key in L-O interlock on main switch to

lock open. The key is now free. s
. . . . METHOD 6.
3—Insert the key in L-O interlock on grounding switch ) ) )

B andturn to unlock. The key is now held. Function: To prevent t tion of disconnect switch
4—Close grounding switch B. A when.breakcrs B, C, n refelosed. (Breakers may be
) opened in any sequence.)

Reverse the sequence to restore service. (Electrical circui I, nt to method 7)

METHOD 5.

Function: To prevent the operation of disconnect switch
A when breaker B is closed.
To prevent the opening of the fuse compartment door

1—Open the breaker.
2—Turn key AO1 in IM
breaker open. K 1 IS0 w free.
3—Insert key AO1 iL-O-@ interlock on disconnecting

switch and ty k. Key AOI is now held.
4—Open disco .

5—Tur L-O-C interlock on disconnect
swifch to open. Key AO1 is now free.
6—, ey 1 to breaker interlock and unlock for

ion g#the breaker during servicing.

e sequence to restore service.

To open the fusecompartment door:

1—Prdeeed from operations | through 4 above.

2—Turn key AO2 in L-O interlock on the disconnect
switch to lock open. The key A02 is now free.

3*—Insert the key AO2 in L-C interlock on the fuse com-
partment door and turn to unlock. The key AO02 is
now held.

when the disconnect switch A is closed. - — -
I
L—(-—ﬂ :
' I
AR g noh
i A ' [
Ly — | /) {
1 :
JJ/ N
AO1 AQ2 AD2 r' :
J@ Al D TRoet4
i @1 - L) o
¥ Leoc j 4o L-C L0
1
| LT -
b ————a)
Disconnect A and Breakers B, C, D and E are shown in
. the closed position. The Key AOI is held in Transfer inter-
_ The breaker, fuse compartment door disconnect lock. Keys A02, AO3, A04 and A0S are held in the interlocks
switch are shown in closed position € 1 is held in on Breaker B. C. D and E
. ,-) . . . ’ N
breaker interlock and key AO2 isgheld W discBnnectinterlock. | —Open breakers B, C, D and E.
Toservice the breaker: \ 2—Turn the key in 1.-O interlock on each Breaker B, C,
D and E to lock the breakers open. The keys A02,
elbck on breaker to lock AO03, A04, A0S are now free.

3—Insert keys A02, AO3, AO4 and AOS in the transfer
interlock.

4—Turn key AO1 in the Transfer interlock. Key AO1 is
now free. (Keys A02. A03, A0O4 and AO5 are now
held.)

S5—Insert key AO1 in L-O-C interlock on disconnect A
and turn to unlock. Key AO1 is now held.

6—Open disconnect A.

7—Turn key AOI in LOC interlock on disconnect A to
lock open. Key AO1 is now free.

8—Insert key AOI in Transfer interlock and turn. Key
AO01 is now held. Keys A02, A03, A0O4 and A0S are
now free.

9—Return keys A02, A03. A04 and A0S, as desired, to
breaker interlocks and unlock for operation during
servicing.

Reverse the sequence to restore service.

ewihl o

us
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METHOD 7.

Function: To prevent the operation of disconnect switch
A when breakers B, C, D and E are closed.

Note: Breakers must be opened in prearranged se-
quence.

(Electrical circuit is equivalent of Method 6.)

SUPERVISORY
KEY

~
%

Disconnect A and Breakers B, C, D and E are shown in
the closed positions. Key AOI is held in the breaker B inter-
lock. Key A02 is held in the breaker C interlock, key AO3 is
held in the breaker D interlock and key A04 is held in th
breaker E interlock. Key is AOS is held free in the breaker

interlock or is retained by the supervisor. \

1—Obtain key A0S from supervisor.

2—Open breaker E.

3—Insert key AOS in the L-O interlock on Brea
and turn Key AOS to lock open.

Key A0S is now held. Key AO4 s nagy frﬂo

4—Open breaker D.

S5—Insert key AO4 in L-O interlock 0@0 and
turn key AO3 to lock the brea p ey A04 is
now held. Key A03 is now fre:e.\

6—Open breaker C.

7—Insert key AO3 in L-O interlQgk ogybreaker C and
turn key A02 to lock th en. Key AO3 is
now held. Key A02 is n d

8—Open breaker B, @

rlock on breaker B and
the breaker open. Key A02 is

i free.

~C interlock on disconnect A

ey AOI is now held.

10—Insert key AO1 in
and turn to unlock.

11—Open the discopnect.

he key A0l in L-O-C interlock on discon-

lock it open. Key AO1 is now free.

AO1 in L-O interlock on breaker B and
to unlock. Key AOI is now held and key
02 1S*ree.

aker A may now be operated for servicing.

KEY INTERLOCK - APPLICATION SCHEMES
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15—Insert key A02 in L-O interlock on breaker C a
turn it to unlock. Key AO02 is now held, a e
AO3 is free.

16—Breaker C may now be operated for servicinb

17—Insert key AO3 in L-O interlock on breaker D and

turn it to unlock. Key AO03 is now held and key
A04 is free. ¢

18—Breaker D may now be operated servicing.

19—1Insert key AO4 in L-O int oc%zxker E and

turn it to unlock. Key AN eld and the
supervisor’s key A0S is fr

20—Breaker E may now be oger r servicing.
Reverse the sequence f@res ervice.

METHOD 8.
e operation of Disconnects A

Function: To greYRmnt
and B when aki osed, to permit servicing of the
Breaker when isc cts are locked open.

B -
./’
- C & —
A01 AO1 AO1 A02
E E
Of---0r--0) [
|
L-C L-0 L-0 L-C |
|
—_.——— ——— — —— —_————— -

Breaker C and the disconnects A and B are shown
closed. One key AO! is held in the breaker L-O interlock and
the other key AOI is held in L-O interlock on disconnect B.
Key AO02 is held in L-O interlock on disconnect A.

1—Open the breaker.

2—Turn key AO1 in L-O interlock on the breaker to
lock it open. Key A0l is now free.

3—Insert key AO1 in L-C interlock on disconnect A
and turn it to unlock. Key AO! is now held.

4—Open disconnect A.

5—Turn key AO2 in L-O interlock on disconnect A to
lock it open. Key A02 is now free.

6—Insert key AO2 in L-C interlock on disconnect B and
turn it to unlock. Key A02 is now held.

7—Open disconnect B.

8—Turn key AO1 in L-O interlock on disconnect B to
lock it open. Key A0l is now free.

9—Insert key AO1 in breaker L-O interlock and turn it
to unlock it for operation during servicing.

Reverse the sequence to restore service.

D
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METHOD 9.

Function: To prevent the operation of Disconnects A
and B with Breaker C closed, and to prevent access to the
Breaker compartment with the Disconnects closed.

A01
E
L-O
rr__—___“ r_ gyt |
|
|

===
O
——_]E—-—~

r
b
I
|
I
L

AQ1
A0t AQ2 AQ2 A03
O: = 1O

E
© >

L-C L-O L-C

Disconnects A and B, breaker C, and the door are nor-
mally closed. Keys AO1 are held in L-O interlock on Breaker
C and the L-O interlock on disconnect B. The key AO02 is
held in the L-O interlock on disconnect A. The key AO34
held in the L-O interlock on disconnect B.

1—Open the breaker.

2—Turn key AOIl in L-O interlock on thg
lock it open. Key AO1 is now free.

3—Insert key AO1 in the L-C interlock isc@mnect
A and turn it to unlock. Key AO1 is

4—Open disconnect A.

5—Turn key AO2 in the L-O inte sconnect

A tolock open. Key A02 is nogy fre
6—1Insert key AO2 in the L4 jnt ckdbn disconnect
B and turn it to unlock. & now held.
7—Open disconnect B.

8—Turn keys AO1 and 1
disconnect B to | it
are now free.

9—Insert key AOL i
turn it to un

e L-O interlock on
. Keys AO1 and A03

eaker L-O interlock and
operation during servicing.

-C interlock (Type D) on the

and turn it to unlock. Key A03

10—Insert

ME oD 13.
ction: To prevent the operation of disconnects A
an by-pass disconnect C under load. It provides for

sing of by-pass disconnect C before the breaker cir-
uit 1S opened, or permits the breaker circuit to be opened
h the by-pass disconnect C remaining open.

KEY INTERLOCK - APPLICATION SCHEMES

-
o(LU)g
O

m

A
| A01 AO1 A02

AD4 L-O L-C

nd B and breaker D are normally
sconnect C is normally open. Keys AOI,
aye normally held in the locks as indicated.
ally free. A

N
he load from the breaker and disconnects to the‘
itch
1—Obtain key A03 which is free and insures thatboth
of the disconnects A and B are locked closed.
2—TInsert key AO3 in L-C interlock on breaker D and
turn it to lock closed. Key AO03 is held and key A04
is now free.
3—Insert key AO4 in L-O-C interlock on by-pass dis-
connect C and turn it to unlock. Key A04 is now
held.
4—Close by-pass disconnect C.
5S—Turn key A04 in L-O-C interlock on by-pass dis-
connect C to lock it closed. Key A0O4 is now free.
6—Insert key AO4 in L-C interlock on breaker D and
turn it to unlock. Key A04 is held and key AO3 is
now free.
7—Open breaker D.
8—Turn key AO1 in the L-O interlock on breaker D to
lock it open. Key AO1 is now free.
9—Insert keys AO1 and AO3 in the L-C interlock on
disconnect A and turn it to unlock. Keys AO1 and
AO03 are now held.
10-—Open disconnect A.
11—Turnkey A02in the L-O interlock on disconnect A
to lock it open. Key AO2 is now free.
12—Insert key AO2 in the L-C interlock on disconnect
B and turn it to unlock. The key A02 is now held.
13—Open disconnect B.
14—Turn key AO1 in the L-O interlock on disconnect B
to lock itopen. The key AO1 is now free.
15—TInsert the key AO1 in the L-O interlock on breaker
D and turn it to unlock to permit operation during
servicing.

Toopendisconnects A and B and breaker D, leaving the
by-pass disconnect C open.

1—Proceed from operations 7 to 15 above.

aNTe
ool o

ws»
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METHOD 11.

Function: To prevent the operation of disconnects A
and B and by-pass disconnect C under load.

Permits by-pass disconnect C to operate only when the

regulator is in the neutral position.
Permits the isolation of the regulator for servicing.

AO1 AD2

L-C

AQ3 AOQt AQ1 AQ2 A03
L-C L-O LN L-C L-0

Disconnects A and B are normally closed. The regu-
lator is normally in operation. The By-pass disconnect C is
normally open.

One key AO1 is held in the regulator L-N (Locked Neu-
tral) interlock and the second key AOI is held in the L-O
interlock on disconnect A. The key AO02 is held in the L-C
interlock on the disconnect C. The key AO3 is held inthe L-O
interlock on disconnect B.

KEY INTERLOCK - APPLICATION SCHEMES
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METHOD 12.

Function: To prevent the paralleling of lines A O
—Single load, fed from either source.

A S C D B

| AN ﬁ]’

AO01

- Q6

L-0

L 4

Disconnect C is n cfosed and disconnect D is
shown open. Key AQgmjg hcf@yin the disconnect C interlock.
1—Opengswit
2—Turn A the L-O interlock on switch C to
ey AO1 isnow free.

01 inthe L-Ointerlock on switch D and
ock.Key AO1 is now held.

itch D.

turgt t
%e e sequence to restore service through switch

Function: To prevent the paralleling of lines A and B.
—Single load, fed from either source.
To prevent the operation of disconnect switches A and

1—Operate the regulator to the necutral position.

2—Turn key AOI in L-N interlock on the regulato\ ETHOD 13.
lock it in a neutral position. The key AO] is
free.

3—Insert key AO1 in the L-O interlock on t -p
disconnect C and turn it to unlock. The Key AOR is

now held.
4—Closethe by-pass disconnect C,

S5—Turn key AO2 in the L-C inte %ss dis-
connect C to lock it closed. "l% 2 is now
free.

6—Insert the key A02 in the L-@ intefock on discon-
nect B and turn it to uniggk. ey AO2 is now
held.

7—Open the disconn .

8—Turn the key & interlock on the dis-
connect B to J§Ck it@pen¥he key AO3 is now free.

in tif€ 1.-C interlock on the dis-
ito unlock. The key AO03 is

connect A and
now held.

10—Open the disconnect A.
11—Turn the key 401 in the L-O interlock on the dis-

connd@t A to lock it open. The key AO1 is now free..

12—In key AOI in the regulator L-N interlock
d¥urn to unlock. This permits the regulator to

5 ted during inspection and servicing,

the sequence to restore service.

SQURRE J) COMPRNY D

B when the breaker C is closed.

AO1 A02
L-O-C L-O

| - — = ————
_E——_—————n

T T

Breaker C and the disconnect A are shown in the closed
position. Disconnect B is shown in the open position. The key
AO01 is held in the breaker C interlock. The key A02 is held in
the disconnect A, L-O interlock.
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METHOD 13. (Cont’d)

To service the breaker:
1—Open breaker C.

2—Turn key AO! in the 1.-O interlock on the breaker
tolock it open. Key AO1 is now free.

3—Insert key AOl in the L-O-C interlock on discon-
nect A and turn it to unlock. Key AO1 is now held.

4—Open disconnect switch A.

5—Turn key AO1 in the L-O-C interlock on discon-
nect A to lock it open. Key AO1 is now frce.

6—Return key AOI to the breaker interlock and un-
lock it for operation of the breaker during ser-
vicing.

To transfer the load from line A to line B:
I—Open breaker C.

2—Turn key AO1 in the 1.-O interlock on the breaker
to lock it open. Key AO1 is now free.

3—Insert key AO1 in the L.-O-C interlock on discon-
nect A and turn it to unlock. Key AO1 is now held.

4—Open disconnect switch A.

S5—Turn key AO! in the L-O-C interlock and key AO2
in L-O interlock on disconnect A to lock open.
Kecys AO1 and AO2 are now free.

6—Insert key AOI in the L-O-C interlock on discon-
nect B and turn it to unlock. Key AOI is now he

7—TInsert key A02 in the L-O interlock on disconfiec
B and turn it to unlock. Key A02 is now

8—Close disconnect switch B.

9—Turn key AO! in the L-O-C interlpc 1scon-
nect B to lock it closed. Key AOQ1 is
10—Insert key AO1 in the breaker interlgck turn it

to unlock. The key AO1is now held’
11—Close the breaker.

Reverse the sequence to restore seg¥ice t

METHOD 14.
Function: Topreventt a ing of lines A and B.

ither source.

ghline A.

L-0 e ‘ L-0
M N
Breaker A is closed to supply load M. Breaker B is
closed to supply load N. Tie-Breaker C is open. The keys A0l

e held in the interlocks on both breakers A and B. Tie-

manner.

KEY INTERLOCK - APPLICATION SCHEMES

Breaker C cannot be closed unless either A ‘!cked

open.

To transfer load N to breaker A, proceed @ follQyvs.
1—Open breaker B.

2—Turn key AO1 in the L-O interlock on breaker B to
lock it open. Key AO1 is now free‘

3—Insert Key AOl in L-Q_interlock on tie-breaker C

and turn it to unlock. 1 is now held.
4—-Close tie-breake\

Reverse the sequenc re service
Load M can be su@plj

N

METHOD 1
Functigik Topevent the paralleling of lines A and B.
—T fed from either source. (One tie-breaker).
t the operation of disconnect switch D when
i e

d.

ough breaker B in a similar

A B

*//D E’// AO3
r -
Fio I A A
1 | MW AO1 AqM *|
Tt = ey
tl s E* A B 15 A03 T*
i * " ) |
L_J | C T }.__I

|

The disconnect switches D and E and breakers A and B
are closed. Breaker A is closed to supply the load M. Breaker
B is closed to supply the load N. Tie-Breaker C is open. Keys
AOQ] and AO2 are held in the interlock on breaker A. Keys
AO01 and AO03 are held in the interlock on breaker B. The Tie-
Breaker C cannot be closed until either breaker A or B is
locked open.

To transfer load N to breaker A, proceed as follows:

1—Open breaker B.

2—Turnkey AOIl in L-O interlock on breaker B to lock
it open. Keys AO1 and AO3 are now free.

3—Insert key AO1 in L-O interlock on tie-breaker C
and turn it to unlock. Key AO1 is now held.

4—Close tie-breaker C.
Reverse the sequence to restore service through

breaker B. Load M can be supplied through breaker
B in a similar manner.

eRNTEy
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METHOD 15 (Cont’d)

To service Breaker B, proceed as follows:

1—Open breaker B.

2—Turn key AO] in the L-O interlock on breaker B to
lock it open. Keys AO1 and AO3 are now free.

3—Insert key AO3 in the L-O-C interlock on disconnect
E and turn it to unlock. Key AO3 is now held.

4—Open disconnect E.

5—Turn key AO3 in the L-O-C interlock on disconnect
E to lock it open. Key AO03 is now free.

6—Return key AO03 to the L-O interlock on breaker B
and unlock it for operation of the breaker during
servicing.
Reverse the sequence to restore service.

Breaker A can be serviced in a similar manner.

METHOD 16

Function: To prevent paralleling of lines A and B.

—Two loads, fed from either source. (One tie-breaker).

To prevent the operation of disconnect switch D when
breaker A is closed.

To prevent the operation of disconnect switch E when
breaker B is closed.

To prevent the opening of the fuse compartment door
when the associated disconnects D or E and breakers A and
B are closed.

A02

9
I
1
Y

3
o
@
S
o

—_———— - — =
>
=}
@

O

0

,_
Q
O

-

L-O-C

=
I_m_

>
o
N

&

AO1

—-»————————

-—————— e -

r—"—'——
|

>
1=y
]
g
-
—
o]

r_
|
©

>
2

-©
g
!
|
L

r.
o
Z

KEY INTERLOCK - APPLICATION SCHEMES

Disc@unect switch D, and Breaker A are closed to sup-
ply lo isconnect switch E and breaker B are closed

SQURARE J) COMPANY D
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to supply load N. Tie-breaker C is open. Keys A0l and AO
are held in the interlock on breaker A. Key AO3 is in

the L-O interlock on disconnect D. Keys A0l and A@Q4 are

held in the interlock on the breaker B. Key A0S is h i

the L-O interlock on the disconnect E. The tie-breaker C
cannot be closed until either breaker A or B is locked open.

L 4

To transfer load N to breaker A, pro\o OWS:

1—Open breaker B.

2—Turn key AOI in L-O ingerfo breaker B to lock
it open. Keys A0l and now free.

3—Insert key AO1 in intgock on tie-breaker C
and turn it to u '‘AO1 is now held.

4—Close tie-breakgmC.

aker B.

urn key AO1 in L-O interlock on breaker B to lock
en. Keys A0l and A0O4 are now free.

sert key AO4 in the L-O-C interlock on discopnect
and turn it to unlock. Key A04 is now held.

—Open disconnect E.
5—Turn key A04 in L-O-C interlock on disconnect E
to lock it open. Key AO4 is now free.
6—Return key A04 to L-O interlock on breaker B and
unlock it for operation of breaker during servicing.

Reverse the sequence to restore service. Breaker A
can be serviced in a similar manner.

To enter the fuse compartment on line B, proceed as follows:
1—Open breaker B.

2—Turn key AO1 in L-O interlock on breaker B to lock
it open. Keys AOl and A04 are now free.

3—Insert key A04 in L-O-C interlock on disconnect E
and turn to unlock. Key AO4 is now held.

4—Open disconnect E.

5—Turn key A04 in L-O-C interlock on disconnect E
to lock it open. Key A04 is now free.

6—Turn key AOS in L-O interlock on disconnect E to
lock it open. Key A0S is now free.

7—Insert keys AO4 and AOS in L-C interlock on the
fuse compartment door and turn it to unlock. Keys
A04 and A0S are now held.

8—Open the fuse compartment door.
Reverse the sequence to restore service.

The fuse compartment on line A can be entered in a
similar manner.
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METHOD 17.

Function: To prevent paralleling of lines A, B, and C.
—Three loads, fed from any source. (Two tie-breakers).

L I I
A1 BO1 CO01
E E E
N Ao N /J( L-0
i r
¥
| } D IT E - :
rY { I {
| * 1 1
Y 1 A01 E'l BO1 E |
| |
| |
Lo | L-0
M

Breaker A is closed to supply load M. Breaker B is
closed to supply Load N. Breaker C is closed to supply the
load P. Keys AO1, BOl and COl are held in the L-O int
locks of breakers A, B, and C. The tie-breakers D and E
locked open.

Tie-breaker D interlock has a master or apa ock
and it can be unlocked for operation with eithe% or
BO1. The tie-breaker E has a master or apartmen k,@nd
it can be unlocked for operation with either ke 1 01.
To transfer load M and breaker A to breake

1-—Open the breaker A.

2—Turn the key AO1 in the O ingerlock on breaker

S

A to lock it open. The key free.

3—Insert the key AO1 in t

L- terlock on tie-
breaker D and turn i u k. Key AO1 is now
held.

4—-Close the tie-breake \
Reverse the seque togfrestore service through

breaker A.

To transfer the 10 from the breakers A and B

to breaker C.

1—Clo -bredRer D as above.
2—Tur 1 in the L-O interlock on breaker B
to lock . The key BO1 is now free.

3—Insert the Key BOl in the L-O interlock on the tie-

breaker E and turn it to unlock. The key BO1 is
now h@ld.

lose the tie-breaker E.

everse the sequence to restore service (M and N
through breakers A and B.)

ny of the loads M, N, P or R can be transferred from
wn supply to any adjacent supply.

KEY INTERLOCK - APPLICATION SCHEMES

METHOD 18.

To prevent the paralleling of lines A, B, C afid D.
—Four loads, fed from any source. (Th iedbreakers).

001

36)

\

, .
L -

closéd to supply load M. Breaker B is
N. Breaker C is closed to supply load

e breakers E, F and G are locked open.

rlock has a master or apartment lock and it

cked for operation with either keys AO1 or BOI.

interlock has a master or apartment lock and it

locked for operation with either keys BOl or CO1.

Th aker G interlock has a master or apartment lock and
can be unlocked for operation with either keys COl or
1.

o transfer the load M from breaker A to breaker B.
1—Open the breaker A.

2—Turn the key AO1 in the L-O interlock on breaker
A to lock it open. The key AO1 is now free.

3—Insert key AO1 in L-O interlock on tie-breaker E
and turn it to unlock. Key AO1 is now held.

4—Close tie-breaker E.
Reverse the sequence to restore service through
breaker A.

To transfer the loads M and N from the breakers A and B
to breaker C.

1—Close tie-breaker E as above.
2—Open breaker B.

3—Turn key BO1 in L-O interlock on breaker B to
lock it open. Key BO1 is now free.

4—Insert key BO1 in L-O interlock on tie-breaker F
and turn it to unlock. Key BO1 is now held.

5—Closetie-breaker F.
Reverse the sequence to restore service (M and N
through breakers A and B).
To transfer the load R from breaker D to breaker C.
1—Open breaker D.

2—Turnkey DO1 in L-O interlock on breaker D to lock
it open. Key DO1 is now free.

3—Insert key DOl in L-O interlock on tie-breaker G
and turn it to unlock. Key DO1 is now held.

4—Close tie-breaker G.

Reverse the sequence to restore service through
breaker D.

as s
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METHOD 19.

Function: To prevent the paralleling of lines A, B,
and C.
—Three loads, fed from any source (Three tie-break-

ers).
E{ A0t B01 [E Cco1 |E
N 4
L-0 I'\ L0 |~ s1Lo
3 N\ ¢
* | I
| F D ! E ‘d :
I
I ‘ ' T V
* E N E i
v|_4 AO1 |,__>-~BO1 |
|
4 N
! BE'F 001 L_{'
+ L-0 L-0 |
| S i
L -_,-__Am :
N D L4
001 -~
L-O
I
‘ F
M P

Breaker A is closed to supply load M. Breake 1
closed to supply the load N. Breaker C is closed to
load P. The keys AOI, BO1, and COI are held in t

interlocks of breakers A, B, and C. The tie-bre:

and F are locked open. The master or apartmen@lock fter-
locks are mounted on the tie-breakers D, E; Dean
be unlocked for operations with either ke 2xor BOI,
BO1 or COl, and A0l or COI respective

y

To transfer load M fro
1—Open breaker A.

2—Turn key AOI in L-O interlock on breaker A to
lock it open. The key is now free.

the sequence to restore service through
aker A.

KEY INTERLOCK - APPLICATION SCHEMES

fe)
N

SQURRE J) COMPRNY

To transfer load M and N from breakers A and B to brea
C.

APRIL, 1982
[—Close tie-breaker D as above.

2—Open breaker B. O

3—Turn key BO1 in L-O interlock on breaker B to lock
it open. Key BOI is now free.

4—Insert key BO1 in L-O interlock on breukg E and
turn it to unlock. Key BOI is n .
5—Close tie-breaker E.
Reverse the sequence to rest service (loads M
and N) through breaker, .
To transfer load P from brea eaker A.

1—Open breaker C.

2—Turn key COIl in
lock it open.

3—Insert key C
and turn i

4—~Close tie

i u

re
Re th uence to restore service through
break

ME, o
tion: To prevent the paralleling of lines A, B, C,

our loads fed from any source. (Four tie-breakers).

crlock on breaker C to
now free.

interlock on tie-breaker F

in I
k. Key CO! is now held.

BO1
001

Lo

cor

o

e ®
o 2

,
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N
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Breaker A is closed to supply load M.
Breaker B is closed to supply load N.
Breaker C is closed to supply load P.

Breaker D is closed to supply load R.

Q
Q,

O,
@

Lef

Keys AOI, BOI, COIl and DOI are held in L-O interlocks of
breakers A, B, C and D. The tie-breakers E, F, G and H are
locked open. Breaker E interlock has a master or apartment
lock and it can be unlocked for operations with either keys
AO1 or BOI. Breaker F interlock has a master or apartment

D
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METHOD 20 (Cont’d)
lock and it can be unlocked for operation with cither keys

BO1

or COl. Breaker G interlock has a master or apartment

lock and it can be unlocked for operation with either keys
CO1 or DOI1. Breakers H interlock has a master or apart-
ment lock and it can be unlocked for operation with either
keys AOl or DOI.

To transfer load M from breaker A to breaker B.

1—Open breaker A.

2—Turn key AOIl in L-O interlock on breaker A tolock
it open. Key A0l is now free.

3—Insert key AOl in L-O interlock on tie-breaker E
and turn it to unlock. Key AO1 is now held.

4—-Close tie-breaker E.
Reverse the sequence to restore service through
breaker A.

To transfer load M and N from breaker A and B to breaker

C.

|—Close tie-breaker E as above.

2—Open breaker B.

3—Turn key BO1 in L-O interlock on breaker B to lock
it open. Key BO1 is now free.

4—1Insert key BO1 in L-O interlock on tie-breaker F
and turn it to unlock. Key BO1 is now held.

5—~Close tie-breaker F.

Reverse the sequence to restore service (M and
through breakers A and B.

To transfer load R from breaker D to breaker C.

To transfer load M from breaker

its own supply to

MET

1—Open breaker D.

2—Turn key DO1 in L-O interlock on bre lock
it open. Key DOl is now free.
3—Insert key DOl in L-O interlock o, edker G

and turn it to unlock. Key DOl is nd
4—Close tie-breaker G.

Reverse the sequence to@r st@«ice through
breaker D. \
breaker D.

1—Open breaker A.

2—Turnkey AO1 in L+ ter
itopen. Key A0l isfiow fige.

3—Insert key AOLg fiterlock on tie-breaker H
and turn it to Key AOl is now held.

4—Close tieBuga
Reve the uence to resiore service through
br .

, N, P, or R can be transferred from
adjacent supply.

on breaker A to lock

L 4

D 21.

tion: To prevent the paralleling of three power
s through a common tie bus not normally in service.
o permit the feeding of any load bus from a second

wer source through the tie bus.

D

N

KEY INTERLOCK - APPLICATION SCHEMES

To permit only one power source to supply
load busses through the tie bus.

LINE 1 LINE 2 LINE 3
A A0S ¢ A0S

{0} o T Ot

AD1 * * A03 Y

| @) - ] d@l--

L-0 *I_ L0 \l

LOAD ] BUS : ) |I 1

! !

“ F Y:

J? AOSLJ?

- ©) os|-

- | L-0 |

-—r-—-—1_J -

-
TIE BUS

\heakers A, B and C are normally closed. Breakers D,

, and F are normally open. Under normal conditions, keys
0l and AOS are held in breaker A interlock, keys A02 and

AOS are held in breaker B interlock and keys A03 and A0S
are held in breaker C interlock.

To transfer the load from line No. 1 to line No. 2 or

line No. 3 through tie bus, proceed as follows:

No.

1—Open breaker A.

2—Turn key AO! in L-O interlock on breaker A to lock
the breaker open. Keys A0l and A0S are now free.

3—Insert key AOl in L-O interlock on breaker D and
turn to unlock. Key AOI is now held.

4—Close breaker D.

S—1Insert key A0S in L-O interlock on either breaker
E or F and turn to unlock. Key A0S is now held.

6—Close breaker E or F (whichever is selected).

Reverse the sequence to restore load to line No. 1.

To transfer the load from lines No. 1 and No. 2 to line

. 3 through tie bus, proceed as follows:

1—Close breaker D as per steps 1 to 4 above.

2—Open breaker B.

3—Turnkey AO2 in L-O interlock on breaker B to lock
the breaker open. Keys A02 and A0S are now free.

4—Insert key AO2 in L-O interlock on breaker E and
turn to unlock. Key A02 is now held.

5—~Close breaker E.

6—1Insert one of the AO5 keys from either breaker A
or B in L-O interlock on breaker F and turn to un-
lock. Key A0S is now held.

7—-Close breaker F.

Reverse the sequence to restore load to lines No. 1 and

2.

omiNTE
@

us»
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METHOD 22.

Function: To prevent the paralleling of three power
sources through a common tie bus not normally in service.

To permit the feeding of any load bus from a second
power source through the tie bus only when authorized by
SUpEervisor.

To permit only one power source to supply all three
load busses through the tie bus only when authorized by
SUpErvisor.

LINE 1 LINE 2 LINE 3

e B B

SUPERVISORS
Y

Breakers A, B and C are normally closed. Breakers D,
E and F are normally open. Under normal conditions Key
AO1 is held in breaker A interlock, Key AO02 is held in
breaker B interlock and Key A03 is held in breaker C inter-
lock. Key AOS is retained by the supervisor.

[—Open breaker A.

KEY INTERLOCK - APPLICATION SCHEMES

APRIL, 1982

METHOD 23.

Function: To prevent the paralleling of incomiig pri
mary sources, lines 1 and 2, through primary tie bus 0
nect.

To prevent the operation (open or closed) of discon-
nects under load.

It permits one power source to su

through tie bus.

ly both. loads

der mormal conditions breakers A and B are closed,

C and D are locked closed, and tie bus discon-
ocked open. Keys AO1 are held in L-O interlock
aker A and L-C interlock on tie bus disconnect T. Keys

e held in L-O interlock on disconnects C and D.

interlock on tie bus disconnect T. Keys A04 (free keys) are

O
. . . A09
Totransfe.r the load from line No. l.to line No. 2 orli Keys A03 are held in L-O interlock on breaker B and L-C
No. 3 through tie bus, proceed as follows:

2—Turnkey AOI in L-Ointerlock on breaker A to\

the breaker open. Key AO1 is now free.

3—Insert key AOI in L-O interlock on breake
turn to unlock. Key A0l is now held.
4—-Close breaker D. L 2
vail-

S—Insert Supervisor’s key A0S (only o X
er F and

able) in L-O interlock on either br

turn to unlock. Key A0S is no 1d®
6—Close breaker E or F (whiche 1 ed).

Reverse sequence to restore the lg@ad tofline No. I.

To transfer the load from li nd No. 2 to line

i
No. 3 through tie bus, proceed S:

I —Close breaker D as to 4 above.
2—Open breaker
3—Turn key A@2 indV-O apterlock on breaker B to

lock the brea ey AO2 is now free.

4—Insert key A02 in interlock on breaker E and
turn to unlock. Key A02 is now held.

5—Close breaker
upervisor’s key A0S in L-O interlock on

e the sequence to restore the load to lines No. 1

SQURARE ) COMPRNY D

hown removably held in the L-C interlocks on disconnects
Cand D.

To transfer load No. 1 from line 1 to line 2 through
bus tie disconnect T, proceed as follows:

1—Open breaker A.

2—Turn key AOI inL-O interlock onbreaker A to lock
open. Key AO1 is now free.

3—Insert key AOl in L-C interlock on disconnect C
and turn to unlock. Keys AOl and A04 are now
held.

4—Open disconnect C.

5—Turn key AO02 in L-O interlock on disconnect C to
lock open. Key AO2 is now free.

6—1Insert keys AO2 and free key A04 (from L-C inter-
lock on disconnect D) in L-O interlock on bus tie
disconnect T and turn to unlock. Keys A02 and A04
are now held.

7—Close bustie disconnect T.

8—Turn key AO3 in L-C interlock on disconnect T to
lock closed. Keys AO1 and AO3 are now free.

9—1Insert key AO1 in L-O interlock on breaker A and
turn to unlock. Key AO1 is now held.

10—Close breaker A.

Reverse the sequence to restore load No. 1 to line 1.

To transfer load No. 2 from line 2 to line 1 through
the bus tie disconnect T, proceed in a similar manner.
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METHOD 24.

Function: To prevent the paralleling of incoming pri-
mary sources, lines 1 and 2, through the primary tie bus
disconnect or the secondary tie bus breaker.

To prevent the operation (open or closed) of the dis-
connects under load.

It permits one power source to supply both loads
through either the primary or secondary tie bus.
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LOAD 1 LOAD 2

Under normal conditions breafr d B are closed,
breaker C is locked open, disconne X are locked
closed and tie disconnect T is loc opcr Keys A0l are
held in the L-O interlock on b and the L-C inter-
lock on primary tie bus disconng {€ys A02 are held in
the L-O interlocks on disco and E. Keys AO3 are
held in the L-O interlock on B and L-C interlock on
primary tie bus disconngg s AO4 (free keys) are
shown removably held j C interlocks on disconnects
D and E. Keys A he L-O interlocks on break-

1—Open bre .
2—Turn key AO1 in the L-O interlock on breaker A to
lock open. Keys A0l and A0S are now free.

Insert Key AO1 and “free key A0O4” in the L-O in-
terlock on disconnect D and turn to unlock. Keys
01 and AO4 are now held.

Open Disconnect D.

5—Turn key AO2 in L-O interlock on disconnect D to
lock open. Key A02 is now free.

KEY INTERLOCK - APPLICATION SCHEMES

interlock on disconnect E) in the
primary bus tie disconnect T and
Keys A02 and A0O4 are now held.
7—Close bus tie disconnect T.
8—Turn key AO03 in the L-C interlock on bus tie dis-
connect T to lock closed. Keys A0l and AO3 are
now removable.

9—1Insert key AO1 i e inferlock on breaker A
and turn to unlock. 1s now held.
10—Close breaker A.

g @ festore service to line 1.

Reverse this proced

Load No.
primary bus ti

1ipplied from No. 1 through the
imilar manner.

ey A0l in the L-O interlock on breaker A to
open. Keys A0l and AOS are now removable.

sert key AOS5 in the L-O interlock on tie breaker
C and turn to unlock. Key AOS5 is now held.

Reverse this procedure to restore service on line 1.

KN*Close tie breaker C.

Load No. 2 can be supplied from line No. 1 through
he secondary tie breaker C in a similar manner.

METHOD 25.

Function: To prevent the paralleling of incoming pri-
mary sources, lines 1 and 2.

To prevent the operation (open or closed) of the dis-
connects under load. (Permits transformer primary discon-
nects (K&L) to open and close the transformer magnetizing
current.*)

Permits isolating breakers for servicing

Permits one power source to supply both loads through
tie bus.

Under normal conditions, breakers A, B, C and D are
closed, disconnects, E, F, G, H, K and L are locked closed
and bus tie disconnect T is locked open. Keys AO1 are held
in the L-O interlock on breaker C and the L-C interlock on
bus tie disconnect T. Keys A02 are held in the L-O interlocks
on breaker A and disconnect E. Key AO3 is held in the L-O
interlock on disconnect F. Key A04 is held in the L-O inter-
lock on breaker C. Keys BOI are held in the L-O interlock on
breaker D and the L-C interlock on bus tie disconnect T.
Keys B02 are held in the L-O interlocks on breaker B and
disconnect G. Key BO3 is held in the L-O interlock on dis-
connect H. Key B04 is held in the L-O interlock on breaker
D. Keys TOI are held in the L-O interlocks on disconnects
F and H.

PINTC
"~

us s
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METHOD 25 (Cont'd)

To transfer load No 1 from line 1 to line 2 through bus
tie disconnect T:

1—Open breaker A.

2—Turn key A02 in the L-O interlock on breaker A to
lock the breaker open. Key A02 is now free.

3—Open breaker C.

4—Turn key AO4 in the L-O interlock breaker C to
lock the breaker open. Keys A0l and A04 are now
free.

S—Insert key A02 from the L-O interlock on breaker
A and key A0l from the L-O interlock on breaker
C, in the L-C interlock on disconnect F and turn
to unlock. Keys A0l and A02 are now held.

B03
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6—Open disconnect F.

7—Turn key AO3 in .
to lock open.

§—Insert key
connect T a

lock on disconnect F
nd TOI are now free.
e L-O interlock on bus tie dis-
lock. Key TO1 is now held.

10—Turn key BO1 in the L-C interlock on bus tie dis-
connect T to lock closed. Keys AOl and BO1! are

the sequence to restore load No. 1 to line 1.

KEY INTERLOCK - APPLICATION SCHEMES

SQUARE J) COMPANY D
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To transfer load No. 2 from line 2 to line 1, pro
in a similar manner.

To isolate breaker A for servicing:

I—Proceed from normal position with operation n
1 through 7 above.

2—Insert key AO3 in the L-C interlock on dixonnect
E and turn to unlock. Key A03 is_now held.

3—Open disconnect E.

4—Turn key AO2 inthe L-O1
to lock open. Key AO03 is no

S—Return key AO2 to brealfr unlock for oper-
ation during servicing.
Reverse the sequence to orérservice.

To isolate breaker B rviing, proceed in a similar

manner.
To isolate breaker C ervicing, proceed as follows:
1—Open bre

ke e L-O interlock on breaker C to
ke n. Keys AOl and AO4 are now free.

4 in the L-O-C interlock on disconnect

n to unlock. Key A04 is now held.

disconnect K.

y A04 in the L-O-C interlock on disconnect

K ock disconnect open. Key A04 is now free.
eturn key A0O4 to breaker C and unlock for oper-

ation during servicing.

| ogydisconnect E

verse the sequence to restore service.

To isolate breaker D for servicing, proceed in a similar
manner.

*To prevent primary disconnects (K&L ) from opening mag-
netizing current only, additional interlocks should be pro-
vided for disconnects K&L.
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METHOD 26. The Interrupter and Breaker are shown in

Function: To prevent opening the fuse compartment tion. Key AO1 is held in the breaker interl(’Q
door when the interrupter switch A is closed. 1—Open the breaker.

To prevent closing the interrupter switch until the fuse 2—Turn key AO1 in the L-O interlock breaker
compartment door is locked closed. to lock the breaker open. Key AO1 is now free.

3—Insert key AO1 in the L-O-C interlock on the inter-
rupter and turn to unlock. Key AOY is now held.

Aot JE 4—Open the interrupter. %
5—Turn key A0l in 8 inerlock on interrupter
@ B to lock open. Ke}\ free.
1 L-C 6—Return key AO1 g#"the bréaker interlock and unlock
for the operatio 05 aker during servicing.

9

-——— e —

| S S S

Reverse the seq e ¥ store service.
- AO1
/ "
A 1, L-0 E

The fuse compartment door and Interrupter are shown
in closed position. Key AO1 is held in the interrupter inter-
lock.

1—Open the interrupter.

2—Turn key AO1 in the L-O interlock on interrupter
switch to lock open. Key AO1 is now free.

3—Insert Key AO1 in the L-C interlock on fusg.co
partment door and turn to unlock. Key Al w
held.

4—Open the fuse compartment door.
Reverse the sequence to restore service. \
L 4 \< ’

————— e —P—— ——

METHOD 28.
METHOD' 27. Function: To prevent the operation (open or closed) of
_ Function: To prevent the@igeratigp (open or closed) interrupter switch A when the breaker is closed.
of interrupter switch A when biga igp closed. ] To prevent opening the fuse compartment door when
Permits the breaker to ffe sergiced and operated while the interrupter switch A is closed.
the interrupter switch is lock@g opgh. To prevent closing the interrupter switch until the fuse

compartment door is locked closed.
Permits the breaker to be serviced and operated while
the interrupter is locked open.

E

AO1

1
@ The Breaker, Fuse compartment door and Interrupter
are shown in closed position. Key AO1 is held in the breaker
interlock and key AO2 is held in the interrupter interlock.

AO1 I To service the breaker:

Vi
L 4
NY\A -J 1—Open the breaker.

2—Turn key AOI in the L-O interlock on tht breaker
to open. Key AO1 is now free.

I 3—Insert key AO1 in the L-O-C interlock on the inter-
rupter and turn to unlock. Key AO1 is now held.

PRNTL,
w
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METHOD 28.(Cont’d) METHOD 30.
4—Open the interrupter. Function: To prevent paralleling lines A and r
5—Turn key AO1 in the L-O-C interlock on interrupter quires dropping load when shifting from one sourcgyto a
to lock it open. Key AOI is now free. other. _ . _
6—Return key AOI to the breaker interlock and unlock To prevent closing both interrupter switch A and B at
for the operation of breaker during servicing the same time—(Permits both interrupter switches to be
’ opened at the same time). @

Reverse this sequence to restore service.

To open the fuse compartment door: - E
I—Proceed from normal position with operations as in El a0t | T AO1

1 through 4 above. @ _J

2—Turn key A02 in the L-O interlock on the interrup-
ter switch to lock it open. Key AO2 is now free. / L-O
3—Insert key A02 in the L-C interlock on the fuse
compartment door and turn to unlock. Key A02 is
now held.

4—Open the fuse compartment door.

Reverse the sequence to restore service.

Interrupter A wn closed and interrupter B is shown
in interrupter A interlock.

upter A.

2 y AO1 in the L-O interlock on interrupter
METHOD 29. A ck. Key /.\01 is nc.)w free. .
Function: To prevent dropping the load—when shift- nsdertt ke3; AOI} mk L}_(O n;tgrllo_ck on ﬁ]tleérupter B
ing from one source to another. urn to unlock. Key 1s now held.
To prevent opening both interrupter switches A and B Close interrupter B.
at the same time—(Permits both interrupter switches to everse the sequence to restore service through inter-
closed at the same time). rupter A.

N

METHOD 31.

Function: To prevent paralleling lines A and B—re-
quires dropping load when shifting from one source to an-
other.

To prevent closing both interrupter switch A and B at
the same time—(Permits both interrupter switches to be
opened at the same time).

To prevent operation (open or closed) of either inter-
rupter switch when breaker is closed.

Permits the breaker to be serviced and operated while
both interrupter switches are locked open.

————— -
7o |El Aot |E ) [Foz|E [ForlE
Interrupter A is sho sedgind interrupter B is shown @ J @ -~ ! L @-1
open. Key AO1 is held imteffupter B interlock. A Lo Loc ¢ NG 2 roe| |
1—Close interrupter B. ’ | { i
2—Turn key AO1 in the L-C interlock on interrupter B !
to lock closed®Key AO1 is now free. \]N | i
3—Inserf§ey AO1 in the L-C interlock on interrupter A :
A n to unlock. Key AO! is now held. L‘ “““ -
4 int€rrupter A. Lo
Reverse this sequence to restore service through inter-

SQURRE ) COMPANY D
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METHOD 31 (Cont’d)

The Breaker and Interrupter A are shown in closed posi-
tion. Interrupter B is shown in the open position. Key AO1
is held in breaker interlock. Key AO02 is held in interrupter
A interlock.

To service the breaker:
1---Open the breaker.

2—Turn key AOl in the L-O interlock on breaker to
lock breaker open. Key AOl is now free.

3—-Insert key AOI in the L-O-C interlock on interrup-
ter A and turn to unlock. Key A0l is now held.

4—COpen interrupter A.

5—Turn key AOI1 in L-O-C interlock on interrupter A
to lock open. Key AO1 is now free.

6—Return key AO1 to breaker interlock and unlock for
operation of breaker during servicing.

Reverse the sequence to restore service.

To transfer load from interrupter A to interrupter B.

1—Proceed from normal positions with operations as
in 1 through 4 above.

2—Turn key AO! in L-O-C interlock and key A02 in
L-O interlock on interrupter A to lock open. Keys
A0l and AO02 are now free.

3—Insert key AOI in L-O-C interlock and key A02 in
L-O interlock on interrupter B and turn to unlock.
Keys AO1 and A02 are now held.

4—Close interrupter B.
5—Turn key AO1 in L-O-C interlock on integ

6—Insert key AO1 in L-O interlock on ke
turn to unlock. Key AOI is now held.
7--—Close breaker. @
i

Reverse the sequence to restore servic
rupter A.
L 4 \
METHOD 32. \

Function: To prevent @perafion (closed, open or
closed) of interrupter swit reaker is closed.

KEY INTERLOCK - APPLICATION SCHEMES

Permits the breaker to be serviced and ope
the interrupter switch is locked open.

The Breaker and Interrupter are shown in ed position,
connected to line B. Key AO! is held in breake rlock.

To service breaker:
1—Open breaker. L 4

2—Turn key AO!l in L-O i ock on breaker to lock
breaker open. Key AO1 free.
3—Insert key AO! in L- -C apferlock on interrupter

and turn to unloc is now held.
4---Open interrupter.

5—Turn key AOlq
lock open. Key

6—Return key

L -C interlock on interrupter
1s now free.

tojbreaker interlock and unlock for

operati bréaker during servicing.
Reverse t quefice to restore service through either
line A ggiline
Totr ter from line B to line A:

from normal position with operations as in
, 2 and 3 above.

n interrupter switch from line B and connect to
ine A.
Turn key AO! in L-C-O-C interlock on interrupter

to lock closed. Key AO1 is now free.

K 4—Insert key AO1 in L-O interlock on breaker and turn

to unlock. Key AO1 is now held.
5—Close breaker.

Reverse the sequence to restore service through either
line A or line B.

METHOD 33.

Function: To prevent operation (closed, open or closed)
of the interrupter switch when breaker is closed.

To prevent opening the fuse compartment door when
the interrupter switch A is closed.

To prevent closing the interrupter switch until fuse
compartment door is locked closed.

B
A2 |E |Aor JE
O |OF
L-0 | t JLcoc] i
7 |
AO2 E: ,'
o
L-C
—r— |
I
|
1
Ao1 |E :
-
L0
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™

ws

D SQUARE J) COMPANY 21




CLASS

3891

METHOD 33 (Cont’d)

Permits the breaker to be serviced and operated while
the interrupter switch is locked open.
The Breaker, Fuse compartment door and Interrupter are
shown in closed position, connected to line B. Key AOI is
held in breaker interlock and key AO02 is held in interrupter
interlock.

To service breaker:

1—Open breaker.

2—Turn key AOI1 in L-O interlock on breaker to lock
breaker open. Key AO! is now free.

3—Insert key AO1 in L-C-O-C interlock on interrupter
and turn to unlock. Key A0l is now held.

4—Open interrupter. .

5—Turn key AO1 in L-C-O-C interlock on interrupter
to open. Key AOI is now free.

6—Return key AOI to breaker interlock and unlock for
operation of breaker during servicing.

Reverse the sequence to restore service through either

line A or line B.

L 4

Q
o
&

L 4

KEY INTERLOCK - APPLICATION SCHEMES

N
S
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To open fuse compartment door. O
1—Proceed from normal position with operati
1 through 4 above.
2—Turn key AO02 in L-O interlock on intergo

lock open. Key A02 is now free.

3—1Insert key AO2 in L-C interlock on fuse compart-
ment door and turn to unlock. Key A02 is @dw held.

4—O0Open fuse compartment door.
Reverse the sequence to resto ice.

ith operations as in

steps 1, 2 and 3 above,

2—Open interrupter swi
toline A.

3—Turn key AOl 4

line B and connect

interlock on interrupter
1 is now free.
L-O interlock on breaker and
AO1 is now held.

4—1Insert key
turn to 0

5—Clqsg br

Reverse nce to restore service through line B.
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